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Normalization of denominator
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Denominator must be correctly normalized to give Probability

o varies depending on av
Ratio of IMIA2 over events gives 0 ()

automatically Acc 1s included
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Parameter estimation
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Sample : no ISR no BSL is normalized
Denomi. : 1s calculated without ISR and BSL with IMI2 of remaining events
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Parameter estimation
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Sample : with ISR with BSL is normalized
Denomi. : 1s calculated without ISR and BSL with IMI2 of remaining events
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Parameter estimation
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1s normalized

ME : 18 LO with IMI2 of remaining events

Sample : with ISR with BSL
Denomi. : is calculated including ISR and BSL with Wizard interfgce
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